Math 262 — 3 October 2022

RINOMIAL DISTRIBVUTION
X~B’m ('n,, P> Means X s a E'mom‘nal rv  thot counts The

namber of successes in M trials, each with success pf‘okaLiliJr/ P
pmfi P(X=%)= (ﬁ) p* (1-p)"™  for x=0,12,.,n

mean:  E(X)=np vociance: Var(X)= np (L-p)

PoissoN PRrocEss

A Sequence of discrete occurrences Where  the aveP03a number
ot occurrences in a fixed Yime interval s known, but the exact

Hywin\a\ of occurrences is  random.

Poisson DisTRIRUTION
X ~Poisson(u) if X counts the number of ocurrences in

o Poisson process wth  mean w oOccurrences per time interval

PM'F: P(X=x) = éM _/f‘r .FOI\ X= O/ 1'/ 2/ 3/ .-

mean: E(X)=u variance: Var(Xx:/L
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